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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q1 f=fafEes & ¥ #F 8 fawes Re v Oy & v Zdor sfafe & 2 2

Question 1D : 9864494263

STRONG Status : Answered
Select the option that depicts the correct mirror image for the given word. Chosen Option : 2

STRONG

Ans X 1. GNORTS
v 2 GNOsIT?2
X 3 21LKOMC
X 4« GNORTS

Q.2 DUt toe of vaces Minersis i human Bady
(U

Question 1D : 9864494251

2 Status : Not Answered
n 1 Chosen Option : -

wepens

Distribution of various minerals in the human body- A T & Rt
arew 1 faEr

Calcium- HfPvrza

Magnesium- #Avfaras

Iron- &

Potassium- Srefras

Sodium- |ftaw

e e Awe ol F afRst & s oS R

o falr safam & ofie & wfs & 1000 by (3w gwwan) &, &

Doats st ion of warrows Minerals s Hhames body

The given graph shows the distribution of minerals in the human body.

Based on the given data, if s person AT t@Mpt: Free RRB ALP.Mock Test 2024

his body, what is the units of calcium distributed in his body?



Ans X1 300 3ERSET FFEAT (1U)
X 2 200 IFARSET FHEAT (IU)
X 3 500 IaSET FHEAT (IU)
v 4 400 IHFWSET FFEAT (1)

Q.3 Rv 71v ar AFFE (Answer figures) # ® 2 & 7§ wefy &1 S A WA
arwr w7 wfafdE g

Problem Figure

Question 1D : 9864493707
Status : Answered
Chosen Option :3

)

Answer Figures

TLL,
AN ! 2

From the given four figures choose the correct water image of the below figure:

Problem Figure

=

2HO®
XA

X2C
viD
X+B

Ans

Q4 10 oF 2 FAw RNV, FAEET 79 A 2§ o w0 0F Y
sfauw | 9 a7 ¥ FOSA T WA Saay & awEy aem

Two identical resistors, ¢ach of 10 , are connected in parallel. This combination, in tum,
is connected to a third resistor of 10 £2. The equivalent resistance of the combination
is

Question 1D : 9864493306
Status : Answered
Chosen Option :3

Ans X 1.10 Q
xX230Q
vils Q
X450

O hud e arg #r aifae I A g e B2

What does the kinetic energy of an object increase with?

Question 1D : 9864493042
Status : Answered

P ;Tﬁ Chosen Option : 2
ns
v
Speed
X 2 A
Mass
X3 eyT
Friction
X 4 ;
Time
as Attempt Free RRB ALP Mock Test 2024

Question 1D : 9864492715



Bl wraae &Y v s 13 FAeNeR B o 33 v RE 10 $8ie R @ uF
ga Rt €y ot s gl

The length of one side of a thombus is 13 ¢cm and one of the diagonals is 10 cm. What is

Status : Answered
Chosen Option : 1

the length of the other diagonal?

Ans
x@mmm
22 cm
xﬁwmm
23 cm
24
o 24T
24 cm
xﬁﬁmm
25cm
Q7 7% @ amgEE Rar &t i P St s A & e e

Ans

afa ¥

Question 1D : 9864493858
Status : Answered
Chosen Option : 1

s

HEH HATHET T9aT AT
R el

1, A HASSI3T AAF 7|

2, FAA HEeRE AE g
Consider the argument and decide which of the given assumptions is/are implicit.

Argument:
Alexander the Great was mortal,

Assumption:

1. Alexander the Great was human.
2. Alexander the Great is a Greek.

q”mwmw1ﬁw%
Only assumption 1 is implicit

, 1 3R 2 g fafea @
Both 1 and 2 are implicit

3mm1m2ﬁw%

Neither 1 nor 2 is implicit

4#mmw2ﬁﬁ%

X

x

X
Only assumption 2 is implicit
O = # ¥ AT O v AT e 82 Question ID : 9864493508
Which of the following is a surface phenomenon? e e
Ans STHAT Chosen Option : 3
X1 ,
Freezing
X2 TereteT]
Melting
J 3 (Ul
Evaporation

Attempt Free RRB ALP Mock Test 2024



3T

e Boiling

Q9 vx Frz # zf¥ GREEN =t ITGGP far 51ar # &t 5t i & PINK #r &

for@r Fmem?

If in a certain code, GREEN is written as ITGGP, then how will PINK be written as in the
same code?

Question ID : 9864494265
Status : Answered
Chosen Option : 4

Ans X 1. KLON
X 2 TumJ
X 3 RKQS
v ¢+ RKPM

Q.10 7 ¥zw - 7 = 3% A8 A TEE T & dUe St §, St 9w
ST @ 7 RIW - T RN A 7 AT & geagE

Who wrote the book ‘Two Fates — The Story of My Divorce’, which is a parody of Chetan
Bhagat's “Two States — The Story of My Marriage'?

Question 1D : 9864492401

Status : Not Answered

Chosen Option : ==

Ans X1 AfAar @
Namita Gokhale
, T e

Swati Kaushal

O 37 R FT 99T F S THE @ FaOT A 2

Question 1D : 9864493659
Status : Answered
Chosen Option : 1

1 2 3 4
Select the figure which does NOT belong to the group,

AlF|ZIE]|

1 2 3

Ans J14
X 21
X33
X442

Q.12 frrfafae Reest & ¥ ota 71 e oo 397 &, 37 5,15 3 20 F quie: Ranfa e

Find the smallest square number from among the given option which is divisible by each
of 8,15 and 20.

Ans X 1. 6400

Question 1D : 9864492520
Status : Answered
Chosen Option : 1

< 2 14400
v 3 3600
X 44900

Q.13 s 1 # 10 FHrex i Fuvg ¥ Ay 1 §| Tg S 9 T 8§ 3 2 s e
Fard 5% I9W 30T A1 §| 50T & 2, mﬂﬁﬁwm#zﬁ@”

A ball is dropped from a height of 1ALECEN] e Ik ALE:
of 2.5m. wmgmeconlmﬂupaeenllossmmemuemgym

Question 1D : 9864493082




Ans X 1.100%
X 2 25%
v 75%
X 4 50%

Q.14 argg A B0 at o &5 & 28 9 & orht & weA S ow B 5@ ] .
AT F w35 T e 1 AR W F A, de v ¥ Question ID : 9864492871
S A 9T 3R 99 A T B Y UR ¥ g oF, UR 02 & AT s @ Status : Not Answered
e smer & A & wreht w & fRaer wR Chosen Option : -

Pipe A can empty a filled tank in 28 hours while Pipe B can fill the same tank, when
empty, in 35 hours. If alternately Pipes A and B are tumed on for an hour ¢ach time,
starting when the tank is full, how long will it take to empty the tank?

e v 2R
271 hours
X2 275 e
275 hours
x5 279 W
279 hours
280 ue
280 hours

X 4

Q15 gEagT Wifged 3cea 2017 & Asanh frw agw & & f? Question ID : 9864492402

The 2017 Brahmaputra Literary Festival was hosted by which city? Status : Answered
Ans CICGED Chosen Option :4

3
Lucknow

X 2 PIeTehIc
Kolkata
fRratrer

X3
Shillong

7 T

Guwabhati

Q16 102 = e v & RrenfSre Ry s anfye anfaks Ay 20 s @ Question ID : 9864492522

By what number should 102 be divided to obtain 20? Status : Answered
Chosen Option : 2
Ans 6
X 1

T
X5 2

15

L

15

X4 =

15

Q.17 1A ® adae 39 16 ab § F@fF 35F 99 98 N adm 39 7 at Y e adt & :
A I R I T AR 5 F NS @ T Question ID : 9864492712
Rathin is now 16 years old while his cousin is 7 years. After how many years will Rathin's Status : Not Answered
age be 1.5 times that of his cousin? Chosen Option : -

Ans x1 9
X212
X310

Ji i1 Attempt Free RRB ALP Mock Test 2024




QI8 -F T+ F + T IT S, T T - T oA+ T T x § A 35-7
14+ 28 I 7 faoffs =t .

If — means +, = means +, x means - and + means ~, then determine the value of 35 - 7 »
14+ 28,

ans X 1.20
X215
X 24
V19

Question 1D : 9864494299
Status : Answered
Chosen Option : 4

Q19 R e 7 T R B s T wE B & T e F ¥ wr ad
e ¥

i
s 7 & Fwon, w8 Fedw At & seh St o &

.
1. A, av & AtwlEn g §
2 & Fswr Fofaw swwy wivedw AT & Ated & e s
&l
Coansider the given argument and decide which of the given assumptions is (are) implicit
in the argument.
Argument:

Due of IT recession, many software engineers lost their job.

Assumptions:

1. IT sector jobs are not secure.
2. IT sector companies lay off software engineers quite often.

e X1-1 3k 2 A=t @Afga &

Both 1 and 2 are implicit.

: Faer A 1 ARk §)
Only assumption 1is implicit.
Faer 2

: A 2 fafa 7
Only assumption 2 is implicit.

A AR 2 =t & AT 76

Neither 1 nor 2 is implicit.

x

x

Question 1D : 9864494028
Status : Answered
Chosen Option : 4

Q20 3 Ry & 977 L S AF B v 79F ¥ wafoT ad

Select the figure that does NOT belong in the following group.

Question 1D : 9864494032
Status : Answered
Chosen Option :4

,|> .@. .El. .@.
A B C D
Ans ¢1 C
X2A
X3B Attempt Free RRB ALP Mock Test 2024

X4D



Q.21 3 w7 & W 10 T & vF qiwr 7 Hwa T 15 97 FaEF Fw’oF
Tl 25 o7 & g ofew & sitwa wraTE 16.2 9l wew F Wl oTEst &
st ¥ ur?

The mean score in & test of the 10 boys in & class was 15 while the overall mean of the 25

Question 1D
Status
Chosen Option

19864492658
:Answered
-3

students n the class was 16.2, What was the mean score of the girls?
Ans X 1.16.8

v:217

X3175

X 4165

Q22 gaprer WAWT & GRIET 991 3cUTg T & §7
What are the products formed during photosynthesis?

Question ID
Status

Ans

19864493416
:Answered
Chosen Option :

X1 e 3R e
Starch and Oxygen

, T, e 3R St
Starch, Water and Oxygen

v TR, el 3R 3fferdiste
Glucose, Water and Oxygen

. Topeplet IR JiferdreTeT
Glucose and Oxygen

x

X

Q.23 faeoy 12 #1 sth Fo FET T H T 2 S0 TE T TF AT AT S0
3t v et T e T a0 B i e TR £ wem v A wew A s
EiCEoiE ]

Vishnu spends T 5000 in buying 12 tables and some chairs. The cost of one table is T 50
and that of one chair is ¥ 40. What is the ratio of the numbers of the chairs to the number

Question 1D
Status

19864492505
:Not Answered
Chosen Option :

of tables purchased?
X 1.55:4
X25:1
X35:2
vi55:6

Ans

Q.24 2017 & s A% & afAe A T 97 7T gIee #F 2
Who is the first female pilot to be inducted into the Indian Navy in 2017?

AT FAFT

Question 1D

Status
Ans

X1

19864492184
:Not Answered
Chosen Option :

Dipa Karmakar
, S FHH
Zaira Wasim
| & uiAw
Tessy Thomas

sl =TT
40

X

x

v
Shubhangi Swaroop

Q.25

Question 1D : 9864493686
Status : Answered

Attempt Free RRB ALP

Chosen Option :
4

2




frrfaf@a R & fraa B Alsg §2

How many triangles are present in the below figure?

Ans ‘,1 10
X238
X339
X446

Q.26 frfaflm # 3 i et # RV Afaw A § e S At ox sfafam
THATEANE?

In which of the following tissues are the cells living, elongated and irregularly thickened
at the comers?

Ans m“
v
Collenchyma

TFALAPIZAT

‘ Sclerenchyma

NAFT=AT

Parenchyma

TIARIZAT

| Aerenchyma

X 2

X 3

X 4

Question 1D : 9864493215
Status : Not Answered
Chosen Option : -~

Q27 48 3T 54 FT . W FAT &2

The LCM of 48 and 54 is:
Ans X 1.6x2x9

X26x%x8x3

X 348 x 54

vi6x8x9

Question 1D : 9864492822
Status : Answered
Chosen Option =1

028 R A T H

XIGP : 172716 :: ZHEJ :
Complete the following.

Question 1D : 9864494090
Status : Answered
Chosen Option : 1

XIGP : 172716 :: ZHAttempt Free RRB ALP Mock Test 2024

Ans  of 1 191510



X 2 191501
X 2191511
X + 191601

Q.29 Fig o & v SRR & ¥ #i9 3 T & a1 af 27
Which of the following is NOT a pollinating agent for cross pollination?

Ans
X 3

Question 1D : 9864493238
Status : Answered
Chosen Option : 1

Wind
STl

X2
Water

X3

Animals
gier
Plants

v &

Q30 F7 wr sfow ke afmay & Ol dn we am 3w s
8, & ¥gew Afew 2

Which famous cricketer co-owns the Pro-Kabaddi team from Tamil Nadu named *Tamil
Thalaivas™?

Question 1D : 9864492310
Status : Not Answered
Chosen Option : -

Ans m aw
J 1
Sachin Tendulkar
x 2 i e
Ravi Shastri
X3 7
Krishnamachari Srikkanth
X 4 g
Sunil Gavaskar

Q31 ofy forelr QuRTeRs W #r afFT +2.0D & & I§ ¥ 2

If the power of a corrective lens is +2.0D, then it is a:

Question 1D : 9864493604
Status : Not Answered
Chosen Option : -

Ans x 1 T [ | m
convex mirror
x , Hae g
concave mirror
o » 3 "
convex lens
x 4 HTS A"

concave lens

Q.32 fr # & Thmet R & wad & I3 g, Sl gor #2017
# o # wAftE e

Who among the followmng dedicated the Chenani-Nashn Tunnel — the longest road tunnel
in India - to the nation in Apnil 20177

Question 1D : 9864492367
Status : Answered
Chosen Option : 1

Ans ¢' "_‘Ra- ma.
Narendra Modi

Attempt Free RRB ALP Mock Test 2024




s T qGSAT
Pranab Mukherjee
x 3AY AHdgeell
3
Omar Abdullah
X 4 i E
Chandrababu Naidu

Q.33 =il & & #t-a sfaday Bw w S s b S R st gy

shraFaaat?

Which of the following 1s the third member of the Dobereiner triad, that also features
Lithiun and Sodimmn?

Question 1D : 9864493173
Status : Not Answered
Chosen Option : -~

Ans
v TefRE

Potassium
X 2 aT
Boron
aRTH
Barium

HESEC]

| Hydrogen

X3

X 4

Q34 Grrafaf@a Ao H QT FA aTal T FE&IAT Td30I

0, 1, 8, 27,7

Question 1D : 9864493698
Status : Answered
Chosen Option :4

Find the number which will complete the following series.

0,1,8,27,?
Ans X 4 25
X216
X3125
v 64

Q.35 X siter & 3 3 franfey a@m ¢ AR O geer 4 franier se & 3R
oEar {1 X & W F e qw ifEw g & @ & gEew gl
L

X walks 3 km towards west, and then tums and travels 4 km towards north. The shortest

Question 1D : 9864493916
Status : Answered
Chosen Option :3

distance between the start and the end point of X's journey is

ans x 1 8 faraeT

8 km
xZG%ﬁvﬂa

6 km
',35%@1%:

5 km
x4_7ﬁ»—<-mhu

7 km

Q.36 i ;
e e e Pt Free RRE ALP Mock Tes@2024 565443563
A curved mirror where the refl : Status : Answered



has 1 FHIS 9T

x .
plane mirror
V2 Haao gaoT
concave mirror
3 HHATA-3cdol 90T
plano-convex mirror
x 4 3ol g9uT
convex mirror

Chosen Option : 2

Q.37 Ffafds Faaeal & 9 IR & 75 F=Al ¥ a7 77 & F Fa ¥ (@
e qadeg & FEEIT T R IFEOT (FET §) T L
T
AT ¥R var e aan a6 s

sy
1. wA7 Tl & faor & a8 &
2. & 5 alia F X Igwal F R SE A WO Iea aigel

Read the followmg statements and identify the logically correct conclusion from the given
information.

Statement:
Time and tide wait for none.

Conclusions:
1. Time is 5ot in anyone’s control.

2. One has to keep moving in life forgetting the bad expeniences of past.

Ans x1
1 3R 2 gt & AT 78 Fd ¢

Neither conclusion 1 nor 2 follows.

1 3R 2 Al 3FET H B
Both conclusions 1 and 2 follow.

_ %ae fAsHY 2 gEor T B
Conclusion 2 follows.

, el fAshY 1 SFgEoT Far

Conclusion 1 follows.

v

X

x

Question 1D : 9864494168
Status : Answered
Chosen Option : 4

Q38 R a7 eFeal A ¥ FaOg e &1 997 FRT:
ofgar : ey 9T

Select the related word from the given alternatives:

Wheel : Spokes :: Fan :
Ans .
@
4
Wings
X 2 A
Motor

x o T

Question 1D : 9864493857
Status : Answered
Chosen Option : 4

Round Attempt Free RRB ALP Mock Test 2024




gar
Air

X 4

QY Rrara R S T d T FsR A s a R

Ans

FT |/ FYA T T
ow gr & freeh e s §

Question 1D : 9864494253
Status : Answered
Chosen Option :3

THAET:
1. $& 60 7T #
2. 3AR ¥ 40% T £

Consider the given question and decide which of the following statements is sufficient to
answer the question,

How many cows in a herd are black?
Statements:

1. There are in total 60 cows,
2. 40% of them are black.

X1
T 71T T & 3eav 34 & AU 1 3Far gdicy &, FAfE 2 e g A4
z

Statement 1 alone is sufficient but statement 2 alone is not sufficient to answer the
question.

X 2

f2T v WA F 3T o & fAv 1 3k 2 W vw wy gdtew a8 £, i T
F 3R & ¥ v 3Rt e & yraaEa 3

Statements | and 2 together are not sufficient, and additional data is needed to answer the
question.

RE v w97 #F IoW 39 & Aw 1 3 2 P v @y gAreT € A Ot
&S qUrea 74 £
Both statements taken together are sufficient to answer the question, but neither statement
alone is sufficient.

X 4
o 1T e 7 3enT 29 ¥ v 2 ader gty &, saf 1 sidber gty wE
&l
Statement 2 alone is sufficient but statement 1 alone is not sufficient to answer the
question.

Q40 frw & ¥ oty ¥ WifRSRET & sccoes 7 (Buoyant force) & sifEes &

Ans

e #:?
Which of the following physicists explained the existence of Buoyant force?

Question 1D : 9864493419
Status : Not Answered
Chosen Option : -

X1 i s
Isaac Newton

, &g
Archimedes

, SO ST
Blaise Pascal

, oW sriEes & o
Charles Augustine de Coulomb

X

X

Q.41 2y eyt &1 3 15 11 ¥ T IAE FgeaH FATEEEH13 B, 7 v ww

Ans X 1.195, 141

Exdl
Two numbers are in the ratio of 15 1 11. If their H.C.F is 13. Find the numbers.

Question 1D : 9864492463
Status : Answered
Chosen Option : 2

X 2 196, 143 Attempt Free RRB ALP Mock Test 2024




W 2195, 143
X 4195, 142

Q.42 v aiv 91t F 92 I Aa@e na & 3= &

ZiEor &, @ét A’ F TR sfnm (ve ovAeE e % quitea) @e e £

Question 1D : 9864493771
Status : Answered
Chosen Option :3

wifEat it At HE
wowew | ot of@or qf | ofter | e
1 A 0 |3 ] 2
2 B 6 2% 7% 26
3 c 81 n 4 2
“ ) 1 7 3 1

Read the given chart and answer the following question.
In south, what is the percentage of seats won by party A (round to one decimal)?

Parties and Seats won
Serial | Party |Sout  East | West | North
number h

40

37

35

LEd

il

4

6

26

76

g

da|

83

ol O] = >

n

4

L
—

1

-

3

Ans X 1.30.5%
X 2 30%
v 3 30.8%
X 4 31%

Q.43 drzx 3 Nh & IH A 5 AT W I A 35 A 7 @ I W @y o

o 3% FAT MR F 3R F A% G, Oh F 37 F 5 W F amw w T/Aw
# 2&t & R F ar =W
The difference between Peter and Preeti’s ages is § years. When they married each other

35 years ago, 4 times Peter’s age was the same as S times the age of Preeti. What is the

current sum of their ages?

Ans

x

x 1 105 a¥

105 years

2 112398

112 years

V> 11538

x

115 years

’ 110 9Y
110 years

Question 1D : 9864492732
Status : Answered
Chosen Option :3

Q.44

Question ID : 9864493785
Status : Answered
Chosen Option :3

Attempt Free RRB ALP Mock Test 2024




A & 78 TAF WP F IS UH AW TAT FH A FAE TR I AE@
F o & A wEp &

YoXVi0Y

7 8

il
B
DIOIQ

Use each of the below figures only once and form three groups. The three groups so
formed are:

il
E
Dio

Ans  of 1 (1,3,5), (2,4,9), (6,7.8)
X 2 (1,35), (2,7,9), (6,4,8)
X 3.(1,35), (6,4,9), (2,7.8)
X 4 .(1,35), (2.4.8), (6,7.9)

Q.45 2017 % vfré FfT FEEae R & Ao # ¥ w3 & =
e we & sRfes gevas A% 8 & =0 v A Question 1D : 9864492239

Which T T ship in 2017 When Ind Status : Not Answered
country Asian Women’s Boxing Championship in 2017 w ia's S
iconic boxer Mary Kom won gold? Chosen Option : -

e ICO oI

Indonesia
CIGH
China

X 4

Q.46 wra ¥ #Atser few 7% s S Fi9 @ 75T F oF ToTET TEE
* % " Question 1D : 9864492268
India’s current finance minister Arun Jaitley is a Rajya Sabha member from which state?

% Status : Answered
o , .gls”lEI Chosen Option : 1
1

Gujarat

LEIC]

Punjab

ghamom

Haryana

x 4 3K geer
Uttar Pradesh

X 2

X3

Question 1D : 9864493149
Status : Not Answered

ock Test:2024. -

Which of the following type of medicine is used to treat indigestion?

QA7 37 w1 sTe A & AT PRl # & few v i Zar F w3 B smar
Ans

Attempt Free RRB ALP ;




Antihistamine
2 veras
Antacid
x 3 Aarifes
Antibiotic
- aar
‘Sulpha drug
04 anfrar 3 5w R 1 i goree g ¢ 2 Question ID : 9864493397
What is the type of asexual reproduction in Amoeba? Status :Answered
Ans m Chosen Option :3
X1
Budding
2 FATqfas FU-gfe
Vegetative propagation
&SATOT (FAR) T3
X3 1
Spore formation
s A s
Binary fission

Q.49 A 3 B wrw fawey Rl s & 21 om & qU o v §1 IR A e

AT TR FT 9 FWH QR R IR TR B Qe A 25 Rw b Status : Answered
T B, A # g # 1w W A A BZAW U FH FR A A B Chosen Option : 4
faw Frear?

A and B together can complete a task in 12 days. However, if A works alone, completes
half the job and leaves and then B works alone and completes the rest of the work, it takes
25 days in all to complete the work. If B is more efficient than A, how many days would it
have taken B to do the work by herself?

Ans X 4 22
v 20
X318
X415

Q.50 vy & Fvder STAI] & Al Fr A FqET gaIl B WEd g e o8 =
The number of free electrons in the outermost shell of carbon atoms in diamond is: Blakos™ Mot Answersd

e E";l Chosen Option : =

X1

three
v: Q‘W

Zero
X 3 a
two
1ry

four

X 4

%1 5329 Fr a‘J‘ITE-[ foraar &2 Ll Question ID : 9864492984
Attempt Free RRB ALP Mock Test 2024 Answered
The square root of 5329 is: | Chosen Option :2




Ans x194
X 296
X397
viT73

% Regeftat #r sfatuwar frae g 82

Insulators have resistivity of the order of:
- 1020m & 107Qm
v

10*20mto 107 Om
107 20m¥ 10~ Om

10720mto 10~ Qm
, 10°em & 10°Qm
10°Qm to 10°Qm
, 107°am ¥ 10~°0m
107%Omto 107°Om

X 2

x

x

Question 1D : 9864493345
Status : Not Answered
Chosen Option : -

Q.53 Tz 9T g F AR Qe 9T ¢ AA #F 1/6% ¥1 2 Fr§ anfEs gl 9w 1.5 e Far
IO 8. A TEA W 37 T S 7% 309 Fear

The value of g on the moon is 1/6™ of the value of g on the earth. If a man can jump 1.5
m high on the earth, on the moon. he can jump up to a height of:

Ans x " 61-7!3?
6m

7.5 A
7.5m

9 Hrex
9m

4.5 Arex
45m

X 2

v

X 4

Question 1D : 9864493080
Status : Not Answered
Chosen Option : -

Q.54 6o mmm#awwumﬁog o 3 T 834 ) s ¥ Wit A
g & o o o A2

At 6% simple interest per annum a sum of money became ¥ 834in6§y!m.11nsum
initially invested was:

Ans X 1. ¥ 650
v 2 T 600
X 33T 675
X 43626

Question ID : 9864492707
Status : Not Answered
Chosen Option : -

Q.56 Riftaw FEfae & Reafts e ¥ 3IWEFw & 300w dw &7 @ e
The gas evolved when sodium carbonate reacts with hydrochloric acid is ’

Ans W

X 1
Hydrogen
X2 eI
Chlorine

x3msmwﬂws

Question 1D : 9864493487
Status : Answered
Chosen Option :3
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Carbon dioxide

Q56 37 wwar @1 Tww FY A e w6ag ¥ wEve af

71, 73,77, 79
Select the number that does NOT belong in the following group.

Question 1D : 9864494007
Status : Not Answered
Chosen Option : —

71,73.77,79
Ans X 4 79
X271
vi77
X473

Q57 Ry arér WAT & FeT # 9= ] A
The people of the Indus Valley Civilisation worshipped -

Question 1D : 9864492081
Status : Answered
Chosen Option :3

Ans Wﬂ'
X1
Hanuman
FreT
Kali
X 3
Ayyappa

v ™
Pashupati

X2

Q58 T F 0 3 3w Hr FEIr FaAr e

Number of ¢ and m bonds in benzene, respectively, is:

Question 1D : 9864493072
Status : Answered
Chosen Option : 1

Ans x1 63ﬁt3
6and 3

v 123R3

12 and 3

x 3 93R3
9and 3

x 4 33R3
3and3

Q.59 2016 # ZiT WE & AT I AT CIREES F AT HOAH F T H
TS YR WHIAI? SHE 9PN § @4 WRY 5% 3w & ASfeT Ty o)

Who took over as the new chairman of the Tata Sons owned Vistara Airline in 20167 Prior
1o this, he was the Managing Director of Titan for 2 long time.

Question 1D : 9864492355
Status : Answered
Chosen Option :3

e Ry AEr

X1
Cyrus Mistry
x o T TG
N Chandrashekaran
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4 ars
Bhaskar Bhatt

Q80 afZ 493 =~ 29 = 17 & ar 493 = 0.0017 =2
If493 + 29 = 17, then4.93 + 0.0017 =?

Question 1D : 9864492880
Status : Answered

Ans X 1 029 Chosen Option : 1
v 22900
X 3290
X429
= m # m m m h aﬁ %") Question 1D : 9864493274
Which of the following is NOT a noble gas? o z':‘x zf“ Answered
Ans x1 @a’
Radon
X2 AT (Xenon)
Xenon
X 3 BTl
Krypton
v . T
Hydrogen

as2 SnCl, + 2HgCl, - Hg,Cl, + SnCl,

IRFT HREHIT A

Question 1D : 9864493150
Status : Not Answered
Chosen Option : -

SnCl, + 2HgCl, -» Hg,Cl, + SnCl,

In the given reaction:

s i SnCl, 3I=Aa & Srar 8
SnCl, is reduced

v Shck HieFHpel &1 ST 8|

SnCl, is oxidised

X 3 HgCl, mﬁm%l

HgCl, is oxidised

”*i Hg, Cl, 3Tardighd & Sar g1

Hg,Cl, is oxidised

Q.63

Question 1D : 9864493957
Status : Not Answered
Chosen Option : -
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f&am mar sv = (Problem figure), BT 710 377 st (Answer figures) # &
fadr ve F gfeefes B o 31 @ 5e57 B (Answer figure) St @1 27

Problem Figure

M

Answer Figures

The given Problem Figure is embedded in one of the given Answer Figures, Which is that
Answer Figure?

Problem Figure

NI

Ans X 4 D
X2C
viB
XA

Q.64 it wras # U ST 41 Tl § AT gwe dew 720 T Fler '
¥ swk Rt & T=E # dor = A Question ID : 9864492655

The length of one side of a thombus is 41 cm and its area is 720cm?. What is the sum of Status : Answered
the lengths of its diagonals? Chosen Option : 2

e | 82 WA

82cm

x , 80 WY
80 cm

v - 98 WA
98 cm

x 4 90 WX
90 cm

Q.65 77z FEg-vAR A ST @ # ¥ MR ¥ A 75 W w5 A6 R : ;
i e i e T Question ID : 9864492100

Status : Not Answered
This pass is in the Zaskar range of Jammu & Kashmir. The road route from Srinagar to v
Leh goes through this pass, 1t has been created by the Indus River, Identify the pass, Chosen Option : -

Ans

s, T
Mana Pass
X, JEarT &
Rohtang Pass
v T Ay
Zoji La Pass
o, AR

Niti Pass
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ffaf@e T & waw 3 s9gea e ¥ &1

sk i @ Fo & goer & 3w ofds e FEh B
Complete the following sentence with the most appropriate option.

Solar energy_____ generates more power than wind energy.
Ans 1 Fafr 8t
never
L
always
v T
sometimes
x4 HFET
often

Chosen Option :2

Q.67 fp=faf@s o #, o REa (?) @R @ 710 3w oF
speteys ¥ R o Reed ¥ snpeiye sew & oagw S

QO L H?

In the following series, one letter is missing as shown by the question mark (7). Select the
missing term from the given options,

QO,L H?

Ans x1_D
v2C
X3A
X 4B

Question 1D : 9864494222
Status : Not Answered
Chosen Option : -

Q.68 13 o g 7w A 37 T H 37 N AFH M AW F A T F @ T
NWIAAITEF . I IR A T =

13 years ago Ram was twice as old as Sunny, Three years from now Sumy'uge\\illbef
of Ram's age. What is Ram's cumrent age?

A
" ox, 72T
72 years

v 77

77 years

X 3 64 I¥

64 years

x, 80 3

80 years

Question 1D : 9864492772
Status : Not Answered
Chosen Option : -

Q.69 Frw, 7Y 3 Tl AFw I ¥ A, W W F A w7 @ A & Wy
A 51 12 ¥ STk A At # A 2l & /Y 7 ;15 W
oTl @ As G Awe F WY T IO °?

In a bag containing red, green and pink tokens, the ratio of red to green tokens was §: 12
while the ratio of pink to red tokens was 7 : 15. What was the ratio of green to pink

tokens?

Ay of 1.36: 7
X225 :28
X312:7

Question ID : 9864492845
Status : Not Answered
Chosen Option : -

X428:25
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Q70 37 Ry F1 9Tw Y, A A wEg ¥ wEOT ad g

Question 1D : 9864494281
Status : Answered
=l Chosen Option : 3

a8 =
74 N

1 2 3 4
Select the figure that does NOT belong in the following group.

Ans x
x

Q.71 v 7 37 3w F Fh W T 3w 3 5 SR 5T @ S sad

ion ID :
¥ Wu-EY GeATT dwd § M T S wh A a A § 2 Question 1D : 9864493768

Status : Not Answered
Chosen Option ; -

Fooran |V

Crcket

Footbal gl Kabadd  &a58! Crcket  fd2

In the given Venn diagram which letter represents all those who play Kabaddi as well as
Football and also all the three games?

Feothadt | V¥

o
Ans X 1.8V
Xz2s
X 3 S+T
v i s+Q

Q72 4000 FT 54% faraar grem: Question ID : 9864492846

54% of 4000 is: e :;;: ftlot Answered
Ans x 1 2025 :

V2 2160
X 32172
X 42232

Q73
Question 1D : 9864494095

Status : Not Answered
Chosen Option : -

Attempt Free RRB ALP Mock Test 2024




Ans

T T FeEud W RAER WY 59 HuR w Faw A e
Furonst # ¥ FF gEH SR 7

aswua
AT T F JGA F=E F Av gfawns §

GEUROT:

1. AFTEAT Fr HavTEaT T4
2. AT FT WIA A FE A AT TEEY WA A

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:
Waming: Consumption of alcobol is injurious 10 health,

Assumptions:
1. This waming is not required.
2. Non-alcoholic people are healthy.
v
AT & TAUROT 1 A & qEuReT 2 deafaed gl
Neither 1 nor 2 is implicit.
Both 1 and 2 are implicit.
: % qEuRoT 1 aeafafea @
Only assumption 1 is implicit.

, T qEmom 2 sreafafea ¥

Only assumption 2 is implicit.

X 2

x

X

Q74 va 27 375 Ay T WEEH F 27 WEET HF W A AD Y AR T A

Ans

Tty 70 e 9fF O & A 3 Y w1

A train crosses a 375 m long platform in 27 seconds. How long was the train if it was
travelling at the speed of 70 kmvh?

X 525 #HreX
525m

X 2 160 #Hrex
160 m

X3 140 #HI
140 m

v 150 #HreX
150 m

Question 1D : 9864492770
Status : Not Answered
Chosen Option : --

Q75 6 R ¥ vw R FaER & B w7 & 3T gamh & i ey 3w

Ans

FEFEA W 4 B it 7w & 9w BwE SR SEE St & sEs o
ST ST T 56 TF T AR # 3 PRt ofr & b o

Samit was given some money to take care of his travel during a 6-day sales drive he had to
undertake. However, he had to increase his stay by another 4 days and as a result his
average daily travel allowance went down by T $6. What was the amount that was
sanctioned 1o him in the beginning?

X 13420
X 23336

Question 1D : 9864492798
Status : Not Answered
Chosen Option : -
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W 3 T 840
X 4 T 560
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